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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

Part — 11 Time : 2% Hours
ECONOMICS Cool-off time : 15 Minutes

Maximum : 80 Scores
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General Instructions to Candidates :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figurés-and graphs should be shown in the answer sheet itself.
Malayalam version gf the questiofs 1s alsoprovided.

Give equations wherever necessary.

Electronic devices eXeeptsnon-programmable calculators are not allowed in the
Examination Hall.
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Answer any 8 questions from 1 to 10. Each carries 1 score. 8x1=8)
1. A good that is non-rival and non-excludable is

(a) Public goods (b) Inferior good

(c) Private goods (d) Capital goods

2. The value of Marginal Propensity to Consume (MPC) lies between

(a) Oand 100 (b) Oand1
(¢c) -—land+l (d) 0 and infinity
3. ‘For whom to produce’ is the problem related to

(a) Technology of production
(b) Selection of Goods and Services
(c) Distribution of National Income

(d) Price Determination

4.  The short run shut-down peint of@a firm/in @penfect competitive market is :
(a) Price = Average Coft
(b) Price = Total Cost
(¢) Price = Total Variable Cost

(d) Price = Average Variable Cost
5. The institution that regulates the money supply in India :
(a) NABARD (b) RBI

(c) WTO (d) SEBI

6. If consumer’s income increases, the demand for inferior goods

(a) Increase (b) Constant
(c) Decrease (d) None of these
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1. 2orEoWlHOI®ALPED®)o BHIAI0SHIMINIOBTHAUWIAOW QITVBG)HHUD

(@)  ©aIm) AUTVD®EHUB (b) ©®IYIMND®RC AUTVD®)EHUB

()  aUIBO0Y AUAVB)ANUD d) |meiwm aT®eeud

2. alaomm 9alceow) (alalem@es (MPC) myele
(@) 0 my 100 Mo eNSI@3 (b)  0.mo 1 Mo eNSVI@3

(c) —1myp +1 Mo ensVI@3 (d) 0 myp GRMM@TIM)e NSWIG3

3. @rdsncaline 9e/0Gla{leeameam nIvmaAadY MIMWea|5e
(a) 2eJ93m AVICH:GIH, aflay
(b)  TLOWMEBBBIOSW)o CAVLAIMEBBBIASW)o HBTIVEEITNS)HNTI
(c) eBUllw ale@IM allm@smoe

(d) aier mldgnolenad

4. anden  @lsacroaialdpleiess @) CagiaBe Madeinomien  @oaviaoel
@S2 )a)5@3 eNnila3)

(a) aflel= woovdl ealelal
(b) aflel= o200 ealelal
(¢c) alfler=emomoe afleedd ealelal

(d) aflel= woowadl allceds aalelal

5. eamI@3 aleM(alBOMe@D® MIWOTIGE)IN TVUNIalMo
(@) NABARD (b) RBI
(c) WTO (d) SEBI

6.  DalcRIG®INNOH QIO)AIMo AIRWIBHNEMINGB IYAN MR AUTVDDHHRIOS CaldBMo

(a) adwleeam) (b)  audlemoidles)am)
(c)  @owan) (d) eaeoMML]
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7. The ratio of Nominal GDP to real GDP is
(a) Consumer Price Index (b) Wholesale Price Index
(¢) Producer Price Index (d) GDP Deflator
8.  If export of goods is more than import of goods, then Balance of trade will be :
(a) Surplus (b) Deficit
(c) Balance (d) Zero
9.  The U shape of Long run Average Cost (LRAC) curve is due to
(a) Law of Variable Proportion
(b) Law of Returns to Scale
(c) Law of Demand
(d) Law of Diminishing Marginal Utility
10.  When output is zero, Total:Variable Cost (TVC) will be :
(a) Increasing (b) _Decreasing
(c) Zero (dy*One
Answer any 4 questions from 11 to 15. Each caries 2 scores. 4x2=38)
11. What is intermediate goods ? Give one example.
12. If the Cash Reserve Ratio (CRR) of an economy is 25%, find the value of money
multiplier.
13.  Write down any two features of Indifference curve.
14. The market demand curve and the market supply curve for wheat are given below :
Qp=50-2P
Qg=10+2P
Find the equilibrium price and quantity.
15. Write down any two objectives of government budget.
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7. alemo®ad & Al afl @) @L0odL0 ] Al all @) ®o2lenss GRMIa o6
(@) 9alccIB®Y AlleITL)afld, (b) om0 afleiav)aile
(c) oer6a aileiqv)ails (d) =.adlail. adlanesqgd
8. QLOWMEBRNS HWYAGH, MVIWMEBBIOS HOGNATICVWANIUB H)S)DLI0OEMEHIG3
Q1400100 UBlaHSo.
(a) alajo (b) ool
(c) avameilmo (d)  anmype
9. Adl@eaigoel vodwoal daleial (LRAC) al@oiload U @rydy@las $006made
(a) alleessdomialommlwas
(b) CE®OIMMAVAlLIBS @R)BOVMIWN
(¢) caloBm Moo
(d) ®RAlI MI200D DalWBH®@IMI@ao
10.  9ejMo al)2N0E3EMIEBHBOdMo Aflcerd: alelal (TVC)
(a) aduwlasmam) (B))00)aN)
() anxyo (DB’
11 2)®@3 15 10 ¢apasSIol ~RO®EILN: 4. a)APOTIMN 2ODMOHAI®)d>.
2 ¢apod afl®o. 4x2=298)
11, ag)amosm enSmlel 9e|aMEBUd ? B0) 2BIAOMMo af) )@,
12. ®0) auaud QiIMOEIee! GO)M@ WMIMald@o (CRR) 25% cnyeemeslad
aleMWEM BTN ML Jo HEOETIBOI)>.
13, dlavew®d Ql@OO aBO@EILN0 QETE (IED IH@HUB af)$I®)d:.
14, ecvoomiloqd &HEMIE  Gal0BMAIDAl)  HEMIOG  (IBOMAIGAI @Y
RERISIQWIF) ]
Qp=50-2P
Qg=10+2P
avaell® alleiwie @RS8O &:6MBdT ).
15, walemeaad enIRdland aRe®EsILle ONE LI YEIBUB af) $)®)D .
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Answer any 4 questions from 16 to 20. Each carries 3 scores. 4x3=12)

16. Write down the three stages of returns to scale.

17. List out any three features of perfect competitive market.

18. Jomon wants to buy rice and wheat with the money income of I 120. Its market prices
are X 15 and X 20 respectively. Find the horizontal intercept, vertical intercept and slope
of the budget line.

19. Write down the three limitations of Gross Domestic Product (GDP) as an indicator of
welfare.

20. List out the three way§ an”which an economy makes economic relations with other
economies.

Answer any 4 questions{fromi 21, to,25.[Each,canries 4 scoriés. 4 x4=16)

21. Explain the circular flow of income in a two-sector economy with the help of a
diagram.

22.  Write a short note on the emergence of macro economics.

23.  Write a short note on flexible exchange rate with the help of diagram.

24. Explain price ceiling with the help of a diagram.

25. Difference between Market economy and Centrally planned economy.
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3 capod all@o. 4x3=12)

16.  c®O®MILEl2))B58 @RYBOVATIOHAF M)A *LISEBUD af) PO

17, a1@6em SISacro $cmIdgamIONg aBO@EIE0 M)A (ICD IHOHUB af) ).

18. cmoemomd 120 @)l aleMAIO)AOMo  DalCILla))O®i6Me GRGIW)e  BUWIMMI
QIEB)AI0M  @RYWNAGIBMN). HAIWIOS HEMIIB allel WNd@Ro 15 d)Iw)p 20
@IWA0EM.  NIRY  COAIVOS  HaNCICIVLOEGE  HMABOIVAI],  HAIABSHH@3
HMBOIVAIY, ©aIBlOl af)aIAL HEONBTID)D.

19. o200 @REI®O 9] (GDP) eavaadiland au)aldbn00 &emManianmMGiimas
2)aN G BHUB ag)91@)b.

20. @@ aumud QIQITUE LA  qUMIG  QAIITUOGSA0]  CLOMIGTE,  MITWo
TLLEHENM @I MBS M)A BOBUNEIBUB A IS15:81245)TT):.

21 a)@@3 25 Q190 ca1ByEBSIa ARE@BIcHs 4 laf)aNODIm’ 2CMOOAI®)d.
4 capod all@o. 4 x4=16)

21. &) asilcaaien qvmid alyaInuoeieel AIeIMETING 2l0@ld (21010000 all(®
MVaN0WEBNIONS QflUOBRIBN .

22, avin)el MoMIelE LuOaV(@ETIN @RANdEIAIOGME)Cla] e1oend)0la] af) ).

23. afl@omled avatoeomIas @pangs allmlaealesslomendlal 60) eleel
aflaIoamo QYOI .

24. 2 (@od608 Ma00EamIeS aflel aldlw] allvdBa0B9)d .

25, &GMUO8 qLMUE  AIAITLO®Y)  CHMWIBY®  ERAVYGI®  qLVMUE  AIITLOW)o
QIR @16)2,| L))
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26.

27.

28.

29.

30.

Answer any 4 question from 26 to 30. Each carries S scores. 4x5=20)

Explain the optimal choice of a consumer (consumer’s equilibrium) with the help of a

diagram.

Complete the following flow chart :

Government Budget

y l

Capital Budget
Revenue Capital
Receipts Receipts

1 2

Explain the short run equilibrium conditions.for profit.maximization of firms under

perfect competitive market with the help of diégram.

(a) What do you mean by the price elasticity of demand ?

(b) The price of potato falls from ¥ 100 to I 75. As a result of which demand rises
from 10 kg to 15 kg. Calculate the price elasticity of demand.

(c) Based on the above information, comment on the nature of the elasticity of

demand.

(a) Differentiate between Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS).

(b) In atwo sector economy, Marginal Propensity to Consume (MPC) is 0.6. Find the

investment multiplier.
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26 2)@@3 30 Q100 €a1ByEBSEIGE aBE@®BILNe 4 afINOTIM DTNOPAPI®).
5 capod afl@o. 4 x5=20)

26. 2@ONOW  TVaOIWVWETMONS  DalCEISH®INNOHG  BRMIGHEIDA  HDOHENDS)a|
(g)njce@ooe;@ommog avameil@moalaun) aflaidlee)d.

27.  ®069 63IS)TNBIHN)AM Ea[d 21083 al)@O1 DAl :

cnmmﬁo@ emgeg”
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MEIWm nIRg
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0QIMY MEeIWM
QIO)@OMo QIOYAOMo

=

28. all@oODOM  TVaOOVEAMINS AW HISAOVO | HCMUIOSODIOL!  DL[OBH

LN IMEIBUBAS (LOTVIBIEL LIIEe CMSYANGNMEBAI {ITINGUB aflVdElB>Clee)d.

29. (a) GaloBMEDIEONM afles SDEIDTVB B af)MN@OBHI6NE ag)amoem’
@RALOAIBNMN@ ?

(b) oo@esivadlond afler 100 @pIKi@d dlan 75 0)I1woR]  @)0amG@i1on]
aneINO@]  aldBMo 10 &lwodlad mlam 15 &l womo@l  aIdUlay).
€alormEmond allel HeNAUIB® HEMENINN)D .

(©) 2H>FED 6BHS)OPAlENM QflaIEEBBIOS @RSITLOOMOTIEI EaI0BM IO
EDEINAVBIBH®WOS V]I @@l2|Gl)d.

30. (a) al@0a® ©aleIW) (@laleM®m®)e (MPC) adlaomm qumiosy (lalemm@ie (MPS)

QIR @16)2,| L))

(b) &) slleasuer avauad AIALOXIG3 ASIA00D Oalecw (latemm (MPC) 0.6
@RYEEMELI@3 MNCBHal 1N)FMN 0 GHEMBNIBN ).
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Answer any 2 questions from 31 to 33. Each carries 8 scores.

2 x 8=16)

31. Explain the three methods of measuring GDP.
32. Describe the monetary policy instruments of RBI.
33. (a) Calculate Total Variable Cost (TVC), Average Cost (AC), Average Fixed Cost
(AFC), Average Variable Cost (AVC) and Short run Marginal Cost (SMC) :
Output| Total Total | Total |[Average|Average| Average | Short run
Q) Fixed |Variable| Cost Cost Fixed |Variable| Marginal
Cost Cost (TC) | (AC) Cost Cost Cost
(TFC) | (TVO) (AFC) | (AVO) | (SMO)
0 70 70
1 70 100
2 70 110
3 70 115
4 70 125
5 70 145
6 70 180
7 70 250
(b) Draw Total Cost (TC), Total Fixed Cost (TFC) and Total Variable Cost (TVC) in
a single diagram by using the above data.
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31 2)@@3 33 Q190 €a1BEBSEIGE aBE@BILNe 2 afIPOTIM DTNOPAPI®)b.
8 capod afl@o. 2x8=16)

31. GDP @rgsonm@Imss a)am dl@ila:ud allaidled.

32. RBI @S aleMmM® 9a10Wld03 QiltdBaose)d:.

33. (a) em@oo™o afleedd aalelai (TVC),
wEal ealelal (AC),
vl audlo ealelal (AFC),
»Oal alleessd ealelal (AVC)
(@OVBoel ASlaoam ealelal (SMC)

af)MIQU GHEMBNIBN ).

2L|MMo | HAOTMo | HAIBN6 | HAITMo | KDIVEG] | YOROUIAI | YDEIWIA] | (EOAVIBHIEI
Q) audlo | ailecedd | aalelal’ | oalelol [ auble | allcedd | mSlacam
®alelal | ealelQl (TC) (AC) ®alelai | ealelal | ealelol
(TFC) (TVE@) A C O (AFC)/| (AVO) (SMC)
0 70 70
1 70 100
2 70 110
3 70 115
4 70 125
5 70 145
6 70 180
7 70 250

(b) 2SI O3IS)OWNANENAN BONEIBUB OalcWOUla] OROTMo ealeial (TC),
en0omo udlo ealelal (TFC), eadomoe afleedsd ealeial (TVC) agavial 80)
WQNOTE AUOQDHN) .
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